Buch Seite 215, Aufgabe 2a

Gegeben :
r = 12cm ; hy=16cm; h, = 16 cm

1
V=§-r2-w-(h1+h2)
1
V = 3 122 . 7-32cm?
V = 1536w cm?® = 4825, 49 cm®
m = 4825,49cm® - 11,3 —
cm

m = 54528, 04 g = 54, 528 kg

O=r-m-(s1+s) S1 =%
O =127 (20 + 20) cm? s;= /162 + 122 cm = 20cm
O = 480w cm? = 1507, 96 cm?




Buch Seite 215, Aufgabe 2c

Gegeben :
thIinder = 24cm ; hKegeI =12cm SKegel = 13cm

FZylinder = FKegel = I

r=+v132—-122 cm=5cm

Vzylinder = 17 -7 - h
VZyIinder = 52 - 24 cm3
VZylinder = 6007 cm® = 1884, 96 cm?®

2
VKegeIZ -r°-7m-h

VKegeI = . 52 e 12 cm3

W= W=

Vikegel = 1007 cm® = 315,16 cm®

Visrper = (6007 + 1007) cm® = 7007 cm® = 2199, 12 cm?®

g
cm3
m = 19572,17g = 19,572 kg

m =2199,12cm*- 8,9

O = Axreis + Mzylinder + Mkegel
O=r>-7+4+2-r-7-h+r-m-s
O=(5-7+2-5-7-24+5 7-13) cm’

O = (257 + 2407 + 657) cm® = 3307 cm”

O = (78,54 + 753,98 + 204,20) cm? = 1036, 72 cm?



